
 

 

КМС 10 12 2016    ОТГОВОРИ 2 клас 

1 зад. 2 зад. 3 зад. 4 зад. 5 зад. 6 зад. 7 зад. 8 зад. 9 зад. 
г б а г - 98 б в а Г - 68 б 

 
Решение на зад. 10 

Откриване на комбинацията 1+1+1+1+1+1+1+1+1                                                                                                1т. 

За всяка от другите комбинации по 2 точки : 

1 х 1лв. + 4 х 2лв   

3 х 1лв  + 3 х 2лв    

2 х 2лв + 1 х 5лв   

2 х 1лв + 1 х 2 лв + 1 х 5 лв   

 4 х 1 лв + 1 х 5 лв 

7 х 1 лв + 1 х 2 лв  

5 х 1 лв + 2 х 2 лв 
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